
  1  Technische Änderungen vorbehalten / Subject to technical changes

Schalldämpferanlage	 Schweizer 300  M 3,5:1
Exhaust	 Schweizer 300  M 3,5:1 

ORD.NO. 632/16

115/29

90605116/2

115/11

116/2

90200
M5x16

90200
M5x16

5mm

90605
5mm

115/29

90605116/2

115/11

116/2

90200
M5x16

90200
M5x16

5mm

90605
5mm

anpassen
cutting out
anpassen
cutting out
anpassen
cut out



  2  Technische Änderungen vorbehalten / Subject to technical changes

anpassen
cutting out
anpassen
cutting out

90095
M3x20

90546
3,2x12

90546
3,2x12

90546
3,2x12

90530
M3

90530
M3

90530
M3

90105
3,2x2590105

M3x25

90095
M3x20

90546
3,2x12

90546
3,2x12

90546
3,2x12

90530
M3

90530
M3

90530
M3

90105
3,2x2590105

M3x25

Ord.No. 11/88
Ø 3,2mm

anpassen
cut out

ORD.NO. 632/16Schalldämpferanlage	 Schweizer 300  M 3,5:1
Exhaust	 Schweizer 300  M 3,5:1 



  3  Technische Änderungen vorbehalten / Subject to technical changes

Schalldämpferanlage	 Schweizer 300  M 3,5:1
Exhaust	 Schweizer 300  M 3,5:1 

ORD.NO. 632/16

Silikon90180
M4x30

90535
M4

Schelle
Clamp

Silikon90180
M4x30

90535
M4

Schelle
Clamp

90535
M4

90180
M4x30

Schelle
Clamp

Silikon


